Info

6 | Gasketing profiles 5| Accessories 4| Clamps 3A | External hinges 2| Locks | Latches 1| Locking systems

7| Custom products

Index

Hinge 3.ZN130

RST Roztocze

LOCKING SOLUTIONS

Screw M6
<
Nut M6 c
35 €
—
Il
LI & M6x8
ol v ‘ < Base
wl N
. zz/7
[ ] I
A
| 1 min 33 3
FINISH [C]
CATALOGUE NO. COMPONENTS MATERIAL
RAL 9005 RAL 7035
Holder ZAMAK 5
3.ZN130.001 Base ZAMAK 5 04 05
Pin Steel zinc plated
Screw M6 20 m z
35 N é
| N
T
\ %ﬁ/—
LTI N
N
o ‘ g E 22 ‘ -
= H—M6x8
A g
i ﬁ Qﬁ/j
Y
l | o &/
min 33 3
FINISH [C]
CATALOGUE NO. COMPONENTS MATERIAL
RAL 9005 RAL 7035
Holder ZAMAK 5
3.ZN130.002 Base ZAMAK 5 04 05
Pin Steel zinc plated
Screw M6
20
Nut M6 N pd
L =
35
| 1 rm e r
T N 22 |
il S M6x8 | 3
hN ‘ Base
2 8 | Sy =2ns U
2 T I — |/
1 S
A l } min 33 -3
1. Holder with shoulder O 8x1mm in standard version
2. Base with shoulder O 8x1mm in version 3.ZN130.003
FINISH [C]
CATALOGUE NO. COMPONENTS MATERIAL
RAL 9005 RAL 7035
Holder ZAMAK 5
3.ZN130.003 Base ZAMAK 5 04 05
Pin Steel zinc plated
How to order: 3.ZN130.001 — C

Catalogue number
Finish

3A-21 | External hinges

www.roztocze.eu



